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I.
Determinants of Demand 

The Socio-psychiatric Explanation 

From a socio-psychological perspective, we consume G & S in order to fulfill our id, ego and superego.

Just in case:

The id is “part of the personality structure that contains the basic drives.” (Rycroft 1968 - from Wikipedia)
Ego “seeks to please the id’s drive in realistic ways that will benefit in the long term rather than bringing grief.” (Noam 1984- from Wikipedia)
Superego “comprises that organized part of the personality structure, commonly called ‘conscience’.” (Wikipedia 2010)

The book explains that we yearn to stand above the clouds.  As I see it, we consume to fit in our society.

Economic explanation

Desire and preference plays and important part in our consumption decision, however price and income play a part as well.

Demand is the ability and willingness to buy specific quantities of goods at alternative prices in a given time period, ceteris paribus.

The market demand is determined by (see chapter three for more details):

· Taste

· Income 

· Expectation 

· Other goods and 

· The number of consumers in the market

III.
The Demand curve

Utility Theory 

In general the theory explains that the more satisfaction we obtain from a product, the more we are willing to pay for it. 

Total vs. marginal 

Utility is the pleasure of satisfaction obtained form a good.

Total utility is the amount of satisfaction obtained from entire consumption of products.

Marginal utility is the satisfaction obtained by consuming one additional unit of a good 

Diminishing marginal utility

Law of diminishing marginal utility states that the marginal utility of a good declines as more of it is consumed in a given period of time.
· So long as marginal utility is positive total utility is increasing.  

· If the marginal utility is negative, we have a disutility. 

· Additional quantities of a good eventually will yield increasingly smaller increments of satisfaction.

Price and Quantity

Marginal utility is essentially a measure of how much we desire particular goods.

The more marginal utility a good delivers the more we are willing to pay for it.  As we purchase more of a product, the marginal utility decrease and we willing to pay less for the product than when we first purchased it.

In essence the marginal utility curve is the demand curve for a particular product, ceteris paribus.

II.
Price Elasticity
Price elasticity of demand (Pε) – A measure of the extent to which the quantity demanded of a good changes when the price of the good changes and all other influence on buyers’ plan remains the same.

To determine the P ε of demand, we compare %∆Q demanded with the %∆P.

Percentage Change in Price

%∆ = {(New – Old) ÷ Old} ∙ 100

%∆P = ((New P – Old P) ÷ Old P) ∙ 100

a. The Midpoint Method

Because elasticity compares the %∆Qd with the %∆P, we need to measure the %∆ that does not depend on the direction of the price.  The measure that economics use is called the midpoint method.  

Midpoint %∆P = {(New P – Old P) ÷ [(New P + Old P) ÷2]} ∙ 100

In this formula the numerator is the same as before, but the denominator is the average of the two prices.  Because the average P is the same regardless of whether the P rises or falls, then the %∆P calculated by the midpoint method is the same for a P rise or a P fall.

Percentage Change in Quantity Demanded

%∆Qd = ((New Qd – Old Qd) ÷ Old Qd) ∙ 100

Midpoint %∆ Qd = {(New Qd – Old Qd) ÷ [(New Qd + Old Qd) ÷2]} ∙ 100

b. Minus Sign

To compare the %∆P and the %∆Qd, we use the absolute value or magnitude and ignore the minus sign.  

Elastic and Inelastic Demand

Elastic demand (> 1) – When the percentage change in the quantity demand exceeds the percentage change in price.

Unit elastic demand (= 1) – When the percentage change in the quantity equals the percentage in price.

Inelastic demand (> 1) – When the percentage change in the quantity demanded is less that the percentage change in price.

Total Revenue and the Price Elasticity of Demand 

Total revenue – The total earnings from the sale of a good equals the price of the good multiplied by the quantity sold.
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Total revenue test – A method of estimating the price elasticity of demand by observing the change in total revenue that results from a price change (ceteris paribus).

The relationship between the Pε of demand and total revenue.
· If price and total revenue change in opposite direction, demand is elastic.

· If a price change leaves total revenue unchanged, demand is unit elastic.

· If price and total revenue change in the same direction, demand is inelastic.

Influence on the Price Elasticity of Demand

What makes the demand for some things elastic and the demand for others inelastic?

a. Luxury vs. Necessity

Foodstuffs are a necessity and they do not have good substitutes; therefore food has an inelastic demand curve.

Ferrari is a luxury and it has good substitutes.  You do not buy a Ferrari if you can only afford a civic.
b. Substitution Effects

The demand for a good is elastic if a substitute for it is easy to find.  

The demand for a good is inelastic id a substitute for it is hard to find.

c. Narrow of definition 

The demand for narrowly defined good is elastic, because a narrowly defined good will probably has an excellent substitute.  Example is latte at Starbuck and Java.

The demand for a broadly defined is inelastic.  Example is Medicine  

d. Time Elapsed Since P Change

As time passes all good became more elastic, because of changes in behaviors and improvements in substitutes. Oil Price in the 70’s.  

e. Income Effects

The greater the proportion of income spent on a good, the greater is the impact of a rise in its price on the Q the people can afford to buy and the more elastic is the demand for the good.  An example is Coke and Housing or car.

EX:

Pεd = %∆Qd ÷ %∆P

Pε = {(5 – 15) ÷ [(5 + 15) ÷ 2]} ÷ {(5 – 3) ÷ [(5 + 3) ÷ 2]} 
Pε = (10 ÷ 10) ÷ (2 ÷ 4)

Pε = 1 ÷ .5

Pεd = 2

f. Slope Elasticity

The Pε of demand measures how the Qd changes when the P changes along a demand curve.

The slope of the demand curve measures how the Qd changes when the price changes.

In essence they are the same, but ε measures all related goods, not lattes and coffee beans.

g. A Units-Free Measure

When we calculate ε, we get a number that is the ration of two %∆ – a number without a unit.  So we ca compare the demand for a latte with the demand for coffee beans.

Elasticity along a Linear Demand Curve

Along a linear demand curve, the slope is constant but the elasticity varies.  

· Demand is unit elastic at the midpoint of the curve.
· Demand is elastic at all points above the midpoint of the curve.
· Demand is inelastic at all points below the midpoint of the curve.
Your Expenditure and Your Elasticity of Demand

Your expenditure on a good is its P multiplied by the quantity that you buy.

E = (P) (Q)

When the P of a good changes, the change in your expenditure depends on your ε of demand.

When the P of a good rises, your demand for that good is 

· Elastic if your E decreases.

· Unit elastic if your E remains constant.

· Inelastic if your E increases.
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